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B.Tech. VI Semester
Examination, May 2023

Grading System (GS)
Computer Networks
Time : Three Hours

Maximum Marks : 70
Note: i) Answer any five questiofis:
fr=di ufa weAl & gt Fikm)
ii) All questions carnequal marks.
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iii) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Whatis Computer Network? Discuss the importance of
Computer network. Give its merits and demerits.
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b) Explain the working principle of ISO-OSI reference
model with functionality of each layer.
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What is the data link layer and what are services does it
provides?
31el forep R a1 & SR ¥ a1 HaAN UEH Bl gl
What is the mechanism of sliding window flow control?
Explain with an example.
Toefen ) wall ool @1 G QAT 8 72 mﬂﬁam
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Discuss about Guided and unguided transmission media
with suitable sketch.
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What is finite state machine model? How fi nite state
machines are used in the study of network protocols?
Explain. |
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Explain the working principle of slotted ALOHA with
suitable sketch.
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A Group of N stations share a 56 Kbps pure aloha channel.
Each station outputs a 1000 bits frame on an average of
once every 100 sec (stations are buffered) What is the
max value of N?
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Describe the working principle of Least Cost Routing
using suitable example.
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Write a brief note on ICMP (Internet Control Message
Protocol) using its frame formats.
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What is Limited-Contengion Protocols? Explain the
working principle of Adaptive Tree Walk Protocol with
suitable example.
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Give the comparative study of IPv4 and IPv6.
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What is Electronic Mailing. What are different ways of
sending electronic mail (E-mail)? Discuss in detail.
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Discuss the concept of TCP flow control and TCP
congestion control.
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8. Write a short note on any two:
1) Service Primitives
it) CSMA/CD
iii) IEEE Standards 802 series
iv) Fragmentation and reassembly
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ii) CSMA/CD

iii) IEEENH® 802 3@dll

iv) fa@sT 3k g daem
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